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Example 2~ ertmg Equatlons of Transformed Functlons

-( : 1. The function y = f(x) has been transformed into y = af(k(x d)) + c. Write the
following in the appropriate form: A Q 5
(a) a vertical compression by a factor. of——, a reflection in the x-axis and a translatlo@ =) d
right. '
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(b)a vertical stretch by a factor of 3, a horlzontal stretch by a factor of 2, a translatlcn left 5
and up 4, and a reflection inthe y-axis. &A=3% k= L J= T C= Ar
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Practice Transformatlons leen an Equation
Graph each of the following functlons by:
a) Graphing the base function first. (y x,y= \[— X, y=x,y= ]x[ y——J y__ Q‘F C L C’L"‘d)) +c
b} Listing the transformations.
( """""" c) '_Apply_ir_lg the transformations to the base function. :
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6) y=3[x+1|+1
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Practice Transformations
List the transformations.
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Apply the transformations to key po
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Dy= 309 (-206-0D) +]
A=3, k=-2, d=1, c=|
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